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Profil - OS-2
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Skala 1

INWESTOR:

PODPIS

D/3

NR RYS.:

09.22
09.22

BPGL LP Nadlesnictwo Rybnik
DATA

Ul. Kosciuszki 36
44-200 Rybnik
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DROGI

NR UPRAW.

SLK/3667/

PWOD/11
BRANZA:

SPEC.
arch.
arch.

09.22

DATA:
Wszelkie prawa dotyczace ochrony wlasnosci inelektualne] zastrzezone

SKALA:

ul. Metalowcéw 13, 41-500 Chorzéw

arch. M.Szyszkowska-Kucia

mgr inz. arch. Pawet Kuczyrski
mgr inz. arch. Krzysztof Kobryn
PROFILE TERENU

PZT

PROJEKTOWAL:
inz. Michat Zarzycki
OPRACOWAL :

TYTUL RYSUNKU:

FAZA:

¢ 1+000

¢ 0+900

¢ 0+800

¢ 0+700

¢ 0+600

272,00

mn.p.m.
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